- e

A HeEi
BE=

J60 2100 1800 3100
O 1 e &
g wa e T2 2 HH" &
o [l 3
© e
ofljn 1 i 2
Bg g
® — @
ﬁ z“J E‘w TJ-1:‘J) I_E‘ -6 I ﬁw E
= t — ~
O B 1) llpe O
7 wall
g g
g, r m
L 5
T 3 =1 T S
uy | po 2] ﬂ
3260 200 1800 2620
028D
® ©@O0® 6
R TaR
¥ 1, RAVRAREARA—1.200
2. RERRARERAT-1.
2)
. ‘l A snﬁ_iﬁ -0.060
_gﬂv 212 §§ otk - : _|I: Vi
g #6020 A
B4 j - —
2812 i‘! e o S 60 (1]
H _;iiz}:lg g 5 s
i) IR |
o HERESREE = tof sl fo
TJ-7

20

300

—1.200

100, 300 ,

120

—
— |

=1

#h
V]
/]

=
100150 I
—1.200

| 4108150

= _= =
e

.H,g.r-,

100_, 300

"Iy

| LY A |

1l}d |25{l| 250 i(}()

1J-6

10Q_, 300

TJ-3

F2 L]

1, ATEEMRHAANE HINTAR SR ARERNCTORLES JaRIBEELE
_ RENNARHRERTATI20KPa.

2. AIRL0.00048ENHIAAETH,

M&M}MJHRBWO (#).

ARTHMPSR AT SOUAE) DN ANATRINED)
AIHERARA. ANSAABANRT.

12. i}






